Question 1. (AQA June 2003 Intermediate Paper 2 Caleulator OK)

Question 4. (AQA Moverber 2006 Intermediate Paper 2 Calaulator OK)

A large carton contains 4 itres of -
arange juice. i '
Cylindrical glasses of height 10 ¢ Oiais —
and radius 3 cm are to be filled Sl A}
from the carton.
[0em

Haw tary ghasses can be filled? 4litres 7 -~ ¢
Yiou muest show all your warking. M

[5 marks]
Question 2. (AQA June 2006 Intermediate Paper 2 Caleulator OK)
The diagram shows two
boxes that are cuboids. | Not drawn accurately
The larger box measures I { S
20ctn by 10cm by 20cm. ‘

Tt ispartly filled with 70 | . | - P

staller boxes each J Sem
measuring Sctn by G by Dem

Zchi.

The smaller boxes are
packed so that there are no
gaps between them.

Niem

Awater container is in the shape of a guboid.
Its base is 20cm by 20cm and the depth of the water in the container is 15em.
Tany adds 1000 cm’ of water to the cantainer.

Not drawn accuralely

Caleulate the new depth, d, of the water, in centimetres.

[4 marks]

Question 5. (AGA Jure 2003 Irtermediate Paper 1 NO Cakulator]

Haw tary mare smaller boxes could be fitted into the larger box?

[4 marks)

Question 3. (AQA Movember 2004 Intermediate Paper 2 Calenlator OK)

A cylinder has a radius of 5 o,
{n) Cakulate the circumference of acircular end of the A —im—
cylinder. : 2

[2 marks)

(b} The eylinder has o valume of 250 e’
Caledlate the height of the eylinder.

[3 marks]

A school hall is in the shape of . cuboid.
The school hall is 30 m long, 12t wide and 4 tall, s shown in the diagratn.

Not to scale

4m

Wim

{n Cakulate the volume of the hall. {bl Calculate the total area of the four
wallz of the hall.

[2 marks] [3 marks]




